RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - May)

RESOLUTION NO. <u>03-193</u>

1	WHEREAS,	the Tohono C	O'odham Council has reviewed the recommendations of the					
2		Enrollment Committee in accordance with Section I of Article VIII of the						
3		Enrollment Or	dinance, Ordinance No. 05-81, and has made a final determination					
4		that the applic	cation of the following applicant for membership in the Tohono					
5		O'odham Natio	on be approved:					
6		ARTICLE II - MEMBERSHIP						
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
8								
9		3865-B-03	JOAQUIN, Dionney B.					
10		3874-B-03	LOPEZ, Jeff Gilbert					
11		3837-B-02	MIGUEL, Ross Rene					
12		3876-B-03	GARCIA, Marcus R.					
13		2440 077 04						
14		3148-CK-03	JOSE, Anica Lanae					
15		3151-CK-03	SALWAY, Mary Rose					
16 17		3152-CK-03	SALWAY, Ohiya					
18		3610-GA-03	LOPEZ, Percina A.					
19		3010-GV-03	LOF EZ, Petchia A.					
20		2070-H-02	CRADDOCK, Romaz D.					
21		2089-H-03	MIGUEL, Nicklas J.					
22		2090-H-03	LOPEZ, Jeremy J.					
23		2091-H-03	WALTENBURG, Anabella M.					
24								
25		2147-P-03	JOSEMARIA, Destiny A.					
26		2148-P-03	DE CORA, Esperanza					
27								
28		2124-GB-03	KNOX, Xander A.					
29		2125-GB-03	FLORES, Jaimy B.					
30		2126-GB-03	OSEGUEDA, Remijio J.					
31								
32		1828-ST-03	LEWIS, Evan William					
33		1829-ST-03	AKERS, Damian A.					
34		1830-ST-03	AKERS, Julian N.					
35		1831-ST-03	RAMON, Brady Oscar					
36 37		1832-ST-03	NARCHO, Brooke Dru					
38		1833-ST-03 1834-ST-03	BROWN, Damion O. BROWN, DePrise M.					
39		1835-ST-03	MOLINA, Michael R.					
40		1836-ST-03	ROLAND, Amya J.					
41		1030-31-03	ROLAND, Amya j.					
42		4907-S-02	JUAN, Janeice E.					
43		4922-S-02	LOPEZ, Gadison T.					
44		4957-S-03	MITCHELL, Jerry M., Jr.					
45		4958-S-03	MANUEL, Jacob A.					
46			·•					
47		2290-SO-02	OLGUIN, Tyler Owen					
48		2332-SO-03	ANTONE, Amber A.					
49		2333-SO-03	ANTONE, Shaelyn A.					
50]							

	RESOLUTION NO. <u>03-193</u>
	(Enrollment - May)
	Page 2 of 3
1	ARTICLE II - MEMBERSHIP
1 2 3 4	SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS
3	
4	2337-SO-03 PERKINS, Canyon Mychael L.
5	2338-SO-03 PERKINS, Kaya Marie P.
6	2342-SO-03 ALVAREZ, Johnny R.
7	
8	7795-ND-03 NUNEZ-OCHOA, Hanna Y.
9 10	7796-ND-03 LEON-MORALES, Luceth
11	7798-ND-03 LOPEZ-MONTIJO, Hector E. 7799-ND-03 MONTIJO-CARRILLO, Genesis A.
12	7799-ND-03 MONTIJO-CARRILLO, Genesis A. 7800-ND-03 MONITJO-ZARAGOZA, Thailyn
13	7801-ND-03 MONTI JO-ZARAGOZA, THANYI 7801-ND-03 MOLINA-MORALES, Alan A.
14	7802-ND-03 MOLINA-MORALES, Alah A. 7802-ND-03 MOLINA-MORALES, Daniel D.
15	7803-ND-03 MOLINA-MORALES, Elida F.
16	7505-11D-05 MODINA-MORRING, LINUX 1.
17	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant
18	is eligible for enrollment as a member of the Tohono O'odham Nation under
19	Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation,
20	and that their application is approved, as herein above indicated.
21	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono
22	O'odham Nation reduce this final determination in writing regarding each of the
23	foregoing applications for enrollment in accordance with Section 1(a) of Article
24	XIII of the Enrollment Ordinance; give notice of this Council's determination in
25	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place
26	the names of each applicant upon the membership roll of the Tohono O'odham
27	Nation in accordance with Sections 2 and 3 of Article X of the Enrollment
28	Ordinance.
29	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the 05TH. Day
30	of MAY 2003 at a meeting at which a quorum was present with a vote of 2,417.5 FOR; -0- AGAINST;
31	-0-NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by Section 1 of
32 33	Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy
34	Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the
35	Act of June 18, 1934 (48 Stat. 984).
36	net of june 10, 1932 (20 Stat. 902).
37	TOHONO O'ODHAM LEGISLATIVE COUNCIL
38	
	$\langle L \cap \rangle$
39	Tu (/ hr t
40	Jun Je 1 Van J

Rita A. Martinez, Legislative Chairwoman

7 Hday of May , 20 03

	RESOLUTION NO. <u>03-193</u> (Enrollment - May) Page 3 of 3									
1	ATTEST:-									
2										
3	/ Xuh hr									
4	Julianna Saraficio, Acting Legislative Secretary									
5	05 - 0711									
6 7	05 day of May , 20 03.									
8	Said Resolution was submitted for approval to the office of the Chairman of the Tohono									
9	O'Odham Nation on the <u>0740</u> day of <u>Navy</u> , 20 <u>03</u> at <u>4.10</u> o'clock									
10	.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become									
11	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours									
12	of submittal.									
13 14	TOHONO O'ODHAM LEGISLATIVE COUNCIL									
15	TORONO O ODRAM LEGISLATIVE COUNCIL									
16	$\Lambda + \Omega h = 7$									
17	Ulu Je nasty									
18	Rita A. Martinez, Legislative Chairwoman									
19										
20 21										
21 22	the D									
23	[] DISAPPROVED on the B day of									
24	1/42									
25	[] DISAPPROVED at <u>7.03</u> o'clock, <u>1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.</u>									
26										
27 28										
29	EDWARD D. MANUEL, Chairman									
30	TOHONO O'ODHAM NATION									
31										
32										
33										
34 35	Returned to the Legislative Secretary on the $\frac{2\pi}{2}$ day of									
36 37	May 203 411:59									
38	may ,20 03 , at 11.59 o'clock, A.M.									
39										
40	July him									
41	Julianna Saraficio, Acting Legislative Secretary									
42										
43										
44 45										
46										

ACTION: ENROLLMENT - MAY

MOVED: COUNCILWOMAN FERN SALCIDO SECOND: COUNCILMAN DAVID GARCIA

DATE: MAY 05, 2003

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 317.7	FRANCES MIGUEL ()	158.85	X			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	X			
CHUKUT KUK 248.1	KENNETH WILLIAMS (Juanita Homer) DAVID GARCIA	124.05 124.05	X			
	(Mary Audrey Juan)	124.03	X			
GU ACHI 230.7	1. CAMILLUS LOPEZ **	115.35	X			
200.7	2. JEROME JOAQUIN ()	115.35	X			
GU VO	1. FERN SALCIDO	94.15	X			
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	X			
HICKIWAN	1. SHIRLEY MOLINA	83.65	X			х
167.3	2. SANDRA ORTEGA ()	83.65	X			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	87.35	х			
174.7	2. PATRICIA CRUZ (Johnson Jose)	87.35	X			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	X			
160.7	2. GLORIA RAMIREZ **	80.35	X			
SAN XAVIER 184.7	1. FELICIA NUÑEZ	92.35	X			
104.7	2. DENNIS RAMON ()	92.35	X			
SCHUK TOAK	1. MARY FLORES	72.25	X			
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	x			x
SELLS	1. DENNIS E. JOSE	208.05	x			
416.1	2. EVELYN JUAN ()	208.05	X			
SIF OIDAK	1. ISIDRO LOPEZ (Nicholas Jose)	92.35	X			
184.7	2. RITA MARTINEZ	92.35	x			
	TOTAL	2,417.5	2,417.5	-0-	-0-	[02]